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Warm up Grade 6

Date: _______

1) Estimate the product or quotient. Which strategy did you use? Tell if 
your estimation is an overestimation or an underestimation.

a) 17.27  x 4 b) 65.21÷ 5



Gr6 Deci L3 multWholNum D1.notebook

2

June 04, 2025

a) Estimate

    7  x 9 

 = 63

Under estimation

Front end

b) Estimate

    3  x 7 

 = 21

Under estimation

Front end

or

b) Estimate

   4  x 7 

 = 28

over estimation

bench mark

c)  Estimate

    11 x 5

 =55

Under estimation

Front end

or

c) Estimate

   12 x 5

 = 60

over estimation

bench mark

d) Estimate

   20 x 4

 = 80

over estimation

bench mark

e) 9.8 ÷ 5

Estimation

      10 ÷ 5

      = 2

Bench mark

over estimation

f) 12.31 ÷ 2

Estimation

      12 ÷ 2

      = 6

Bench mark

under estimation

g) 56.093 ÷ 7

Estimation

      56 ÷ 7

      = 8

front end

under estimation

h) 225.3 ÷ 5

Estimation

      225 ÷ 5

      = 45

benchmark

under estimation
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$30 ÷ 3 = $10 Each ticket is about $10. (Over 
estimate since 30 is larger than 
29.85)

$14.89 is about $15

$15 x 6 = $90

same as (Double and half mental math)

$30 x 3 = $90
6 pairs of ice cleats cost about 
$90. (Over estimate since 15 is 
larger than 14.89)

P = Side x 4

   1cm x 4

 4 cm

Under 
estimate 
since 1 cm 
is less than 
1.3 cm

P = Side x 4

   2cm x 4

 8 cm

Under 
estimate 
since 2 cm 
is less than 
2.1 cm

P = Side x 4

   3cm x 4

 12 cm

over 
estimate 
since 3 cm 
is more 
than 2.6 
cm
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side of square is perimeter divide by 4

side = perimeter÷4

about 24cm÷4

             6 cm

side = perimeter÷4
about 30cm÷4

             7.5 cm

side = perimeter÷4
about 36cm÷4

             9 cm

underestimate overestimate overestimate

6a)it is greater since 9 is smaller 
than 9.47 and we know 9x5 is 45 
(Using 9 x 5 is front end 
estimation)

6b) 23.86 is close to 24 but 
smaller and we know 

24 ÷ 6 = 4  so if you take a 
smaller number and divide 
it by 6 it is  smaller again 

about

6 x 2

12

about 

1.5 x 4

3 x  2  (Half and double)

   6

about

5 ÷ 2

2.5

about

15 ÷ 5

3
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Ch. 3   Lesson 3 

Multiply decimals by whole numbers

When multiplying decimals, you do NOT line up decimal places 
BUT you line up (Last digit) numbers on top of each other place 

3.4 x              6

  3.4

x    6

Step 1) Ignore the decimals until the end and multiply 34 x 6 
(Show work)

 34

x  6
30 x 6  = 180

  4 x 6 = 24

so 180+ 24 = 204

Or area model

Step 2) To replace the decimal, there are two methods

Method 1) Estimate!  This will help you place your decimal
3.4 x 6

Estimation:  3 x 6 = 18

My answer should be around 18 

So 3.4 x 6 = 20.4 since it it close to 18

Method 2) count the TOTAL number of digits after the 
decimal place in your original questions

3.4     Has 1 number after the decimal point

x 6      has Zero numbers after the decimal place

My answer should have only 1 number after the decimal 
place 
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Example:   Find 4.5 x 7 (Show work by multiplying first)

Then  Estimate!  This will help you place your decimal  4.5 x 7

Estimation:  ______________

My answer should be around______ 

So the answer to 4.5 x 7 = ____
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The decimal point is missing in each product. Use front end 
estimation to place each decimal point.

a) 8.64 x 4 = 3556 b) 3.012 x 3 = 9036
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Multiplying decimals song

https://www.youtube.com/watch?v=QXIm5qhPzww
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1)    2.3 x 6 

Evaluate 

2.  Each day Tyson buys his lunch at school. He spends $5.75 
each day.  If he buys for 5 days , then how much did Tyson 
spend in total? 
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Class / Homework

#1Multiply like we did in class

#2(b,d,f)

#3(ae)

#4abcd

page 97

#5 

#6

#7 

#9

#10

#14

bd   show work 

show work

show work

show estimate
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Don't use base ten block, Multiply like we did in class

WS 97

2 a) 7.1 x 5 = 355
     
Step 1:  7 x 5 = 35 (estimation)

Step 2:  7.1 x 5 = 35.5 (I know the decimal is correct because of my estimation

Example
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9 a) 4.01 x 5 = 200.5
        
Step 1: 4 x 5 = 20 

Step 2:  the decimal should be 20.05 not 200.5 

example
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